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Set No 4

Directions : Read the information given below and answer the questions that follow.

Four young men Raj, Prem, Ved and Ashok are friendly with four girls Sushma, Kusum, Vimla
and Poonam. Sushma and Vimla are friends. Ved's girl friend does not like Sushma and Vimla.
Kusum does not care for Ved. Prem's girl friend is only friendly with Sushma. Sushma does not
like Raj.

1. Who is Raj's girl friend?

A. Sushma B. Kusum C. Vimla D. Poonam

2. With whom is Sushma friendly?

A. Raj B. Prem C. Ved D. Ashok
3. Who is Poonam's boy friend?
A. Ashok B. Ved C. Prem D. Raj

4. Who does not like Sushma and Vimla?

A. Poonam B. Raj C. Ashok D. Ved

Correct Answers:

Common Explanations:

Reference:
Ved's girlfriend does not like Sushma and Vimla

Kusum does not care for Ved

Inference:
We can draw following diagram from the above reference points:




Sushma |Vimla [KusumPoonam
Raj X
Prem X
Ved X X X Yes
Ashok X

Reference:
Prem's girl friend is only friendly with Sushma.

Sushma does not like Raj

Sushma and Vimla are friends

Inference:

Since Sushma and Vimla are friends and Prem's girlfriend is only friendly with Sushma, Vimla is Prem's

girlfriend.

We can draw final arrangement from the above reference points:

Sushma |Vimla [Kusum[Poonam
Raj X X Yes X
Prem X Yes X X
Ved X X X Yes
Ashok| Yes X X X
Answers :
1. From the common explanation it is clear that 'Kusum is Raj's girlfriend'.
Hence, option B is correct.
2. From the common explanation it is clear that 'Sushma is friendly with Ashok'.
Hence, option D is correct.
3. From the common explanation it is clear that 'Ved is poonam's boyfriend'.
Hence, option B is correct.
4. It's mentioned in the information part that it's Ved girl friend who doesn't like Sushma and Vimla and

from the chart made we can clearly see that it's Poonam who is Ved's girl friend.

Hence, option A is correct.
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